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45.1  Match the beginning of each sentence with the most appropriate ending.

1 Students always seem to have difficulty surrounding the President.

2 Ford pointed out that the methodology had apparent.

3 The need to find replacement fuels poses some important questions for the Party.
4 The media continue to focus on the controversy —many difficulties.

S In the figures he presented several errors were arose fairly recently.

6 On their way across Antarctica they experienced in remembering this formula.

7 The results of the opinion poll raise a number of inconsistencies.

8 Problems caused by pollution in this area considerable challenges for scientists.

45.2  There is a preposition missing in each of these sentences. Add it in the right place.

1 It is no easy task mediating unions and management.

2 In this lecture I plan to deal the later novels of Charles Dickens.

3 The answer to most problems in agriculture lies the soil.

4 He thought for a long time but was unable to come with a solution.

S Green tourism may initially feel like a contradiction terms.

6 I wonder what the professor’s reaction the article will be.

7 The company has experienced a number of difficulties the computer operating system.
8 Have you found a solution the problem yet?




